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Iy mwn: Swa nawnn that doesn’t invalidate (IV) — mn or intent to place nT in wrong specific location

a

o an o

I he intended to leave the o7 or R the next day, or to take them out of their precinct — w3

i Dissent: nT71 1 invalidates

If: he intended to place the 07 in the wrong specific location (on w13, up/down or in/out) — w3

Or: that n'Rnv or vy will either offer (i.e. bring 11X up to nam) or eat, or (re: Noa) to break a bone or eat it raw
Or: to mix the blood with o108 o7

In all cases: 7w3 —

i Reason: only intents that affect 129 are 1ty yin, Ympn% yin and, in case of (11nr1) Noa and NRVN — jNYH RHY

II  Analyzing nT 's opinion — that 9m nawnn generates 5109

a

Source (879): vv. 1-2 both teach 9111 MR — one must be about 1M1 nawnn (“Mrn nawvnn”)
i Challenge: »1 would need v. 2 to teach that several other n1119p are limited to ") oy — and under ban of 9mm
1 Answer: use of my (instead of y1mn 8% as in v. 1) can be used for both
ii  Challenge: this account for mn nawnn — but what is »’s source for R¥11% nawnn?
iii Additionally: we know that »’s reason is not based on exegesis, but on reasoning
1 Rationale: as ™ countered to D'nan (Xn11) — they must agree that if he actually left it “til morning it’d be %108
2 Therefore: intent to leave it over also invalidates
(a) Challenge: if so, why doesn’t he disagree in later cases in nywn (e.g. breaking bone of noa)
(b) Answer: none of them invalidate 127p
(i) Not: breaking bone of noa or eating it raw
(ii) Nor:having Xnv or 097y bringing 11X up or eating it)
1. Alternate: he doesn’t have the purview to have intents regarding other people (e.g. 297 D’RnY)
(iii) Nor: mixing with o0 D7, as N7’ "1 maintains that o7 Y0an o7 PR
(iv) Nor: putting 07 in wrong specific location, as "> 7 holds that ympna 89w is 1mpnd (for n1ad)
(V) Question: why doesn’t he dissent in case of 07 in/out — that is surely 1mpna R5w
1. Answer: he holds that ympn% yin is only if intent was for a W, wn place (o778 71 oT) = not Y2'n
2. Challenge: "1 doesn’t require »»"9V, as he interprets y7 727 (v. 3) to include nvINW NrON BT - NVL
a.  Challenge; he does require >w’5v, as he only invalidates if it was brought in 71n1 — and that,
only if he actually put the b7 on the »n29n narm = nawnn alone certainly wouldn't Yo
b. Answer: there are two traditions about »*’s position
3. Tangential challenge: "1 doesn’t invalidate o172 NYNWW nkon (as recorded in Xn»11), per v. 3
4. Answer: two traditions about »"1’s position about this, as well
RIR " (or R17): 7™ agrees that if he had myn nawnn and then ynt> yin, it would be 5wa (i.e. 15t nawnn doesn’t derail)
i Support (N27): Y198 can be generated before np»1, but is only solidified at 7701
ii  Rejection: in that case, there’s one intent, starts at (e.g.) nv'nw and gels at 1”n71; here, there are two distinct intents
iii ~ Challenge (82777 ”): 9108 nawnn derails any further possibility of %132 — xnavn
R0 72 R17: if he had intent that nxnv will eat tomorrow — still 9108
i Support (837): meat is 11OR before 7771, yet nawnn about eating it 101% pin is still Y10
ii  Rejection: in that case, the np»r makes the meat permissible; in this case, its never permitted (to the xnv)
RTON “1: )07 "1 would say that noa 7wa that wasn’t roasted & nmin-loaves that weren't tithed — &nv still liable for eating
i Support (837): v. 4is interpreted as extending to 5"p7p »1°R for n73 2vn if eaten by a ®nv (even though not eaten)
ii  Rejection: 7"pTp *MR are fit — to be “eaten” by nam; unroasted 8”p and untithed n7in 'nnY are unfit for anyone
1 Alternatively: R are “fit” for their purpose; this 8”p and these nmin 'mn% are unfit for anything (as is)
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